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1 (3*12=36)
1 7 2 7 3 % 4 4 5 % 6 7
7 7 8 1 9 v 10 7 1 v 12 1

HiB © Alexander Farrell. 2022. America Today: Culture, Society and History, p.93. Xttt —EBiZE

X 2 (10*¥1=10)
fil : T want to be retired and spend my time on my hobbies. (12 words)

AL (3*10=30)
1 7 2 A 3 7 4 5 7 6 A
70 4 18| 4 |9 4 |10

55 3 (6*4=24)
a from (our) b (together) like (in)
c to bring (F 7213 to drive) d on his
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1 (3*12=36)
1 7 2 1 3 4 4 7 5 1 6 4
7 7 8 1 9 1 10 7 11 4 12 4

HiBL : James C. House + —4#F& 1. 2022. Britain Today: Culture, Society and History, p.72. ¥ttt —EBeKZ

R 2 (10%1=10)

il = T like watching horror movies because I enjoy the feeling of being scared. (13 words)

5521 (3*10=30)

%5 3 [ (6%4=24)

a want you b you remember

c on with d no sleep
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(1) a? + b% + ¢ + 2ab — 2bc — 2ca
(2 —4
®) -
(4) 5
(5) /A =120°, S =143

(6)

a=4.7 b=11.2




BRI

2
1
(1) 5
2
(2) 3
3
(1) 23.3%.
(2 30
4
(1) v="06, e=12

(2) 12




